10_1 o

1072

1053t AT I A A .! L

[y
TTTT] T T
e
L
3
-+
Il
1
+
s
-
1
L
L
b
¥
e
T
iy
TTTT T T
e
L
¥
4
+
s
-
1
b
L
b
+
e
T

0.95 : : i 0.95 : : :
1 10 102 10° 107 1 10 102 10°

=
o
iN

—=— DQM_TT__mkFit-DQM_init_orig

—— DQM_TT__mkFit-DQM_init_modi3

10k 107 Y=

1072

-3 MEFEETITY B A
10

e - |, N N
N - . N | | .
[ : [ 4

4
144 SEH ==Y o R 1 5 e
[ [ : <+
0.95 0.95

107 1 10 10? 10° 107 1 10 10? 10°

-

. .

I P S 1 TS 1 PR O
* N

10% ! al '

B - | .
i | ,

1 AEHETERE 4o

107 1 10 107 10°



	Contents
	Page 1


